Tent installation instructions Tent 10[“ type P?B

Mame No. Picture 10x8 10x12

Tube 78mm 1 (v T [ee) 24 32
Tube 78mm 1C (E o [22]) 10 14
Rooffwall cormer connectar 78mm 2 10 14
Front/end connector 78mm 3 2 2
Middle connectar 78mm 3A 3 5
Roof reinforcement 38mm 4 T — - e | 15 91
Roof and enfrance reinforcement 5 [+ 7 | =D 14 18
S8mm

Entrance reinforcemeant 78mm 6 (ee e 4 4
Entrance reinforcement 78mm 7 E e ) 4 4
Roof reinforcement 38mm 8 (e « ) 5 7
Horizontal entrance aC ol : ) 4 4

reinforcement 38mm

Peak roof tube S0mm 10 GT =10 4 6




Tent installation instructions Tent 10[“ type P?B

Name No. Picture 10x8 10x 12
Cross roof tube 50mm 11 (= = () 8 8
Cross roof tube 50mm 12 (s =0 24 40
Wall reinforcement 38mm 13 [{_,r‘ =0 4 4
Wall reinforcement 38mm 14 E s ) 4 4
Bottom gate reinforcement 38mm 15A (e = 4 4
Bottom gate reinforcement 28mm 168A (e e D 4 4

Tube coming through

the roof tarpaulin 17 ( LD 6 10
Tube coming through
the roof tarpaulin 18 C D 2 2
Tube coming through the :
entrance tarpaulin 25mm 19 ( ¢ [ 8 8
Tube coming through the
entrance tarpaulin 25mm 20 ( D 4 4
Left foot A O D o, top P 2
O d
o 0 o . o[ s

Right root B O E O fop 2 9

. —

A [ | side

Middle faot on the entrance C o O | tor 4 4

< side

top 6 10

Middle foot on the sides D G O

|:| o side




Tent installation instructions Tent 10[“ type P?B

Name No. Picture 10x8 10x 12
Screw M10x90 124 164
Screw M10x140 40 56
Screw MBx70 14 18
Screw MEx30 6 6
Rod 14 18
Single reel for the entrance 4 4
Double reel for the entrance 2 2
Buckle for the feet 14 18
Belt 10 14
Strings
4 ¥ 17m (entrance & roof)
4 x 7 6m (entrance & entrance framea)
& x Bm (entrance & entrance frame
reinfarcerment)
2 x 22.7m (gate lift)
Ball with rubbar 4 4
(1o fix the small entrancs)
Plug C [ 16 16



Tent installation instructions Tent 10[‘“ type P?B

Distribute feet on leveled ground keeping distances as pictured.
For the tents with lenght above 12m base constructions (10x8m or 10x12m) should be assembled first.
Mext, gently move one to the other as pictured.

10m x 16m 10m x 20m 10m x 24m

'!;'I:l Di] [T;:n n,i] [ﬂd:n nlnn]
[nﬂ:u u:i] 8m [ﬁﬂ:ﬂ u:i] B8m [uﬂ:n n"_ﬂ_']
:‘:n n:pa] :‘:n n;;:] uﬂfn n:_a] 12"1

[?:n n'-:a]

& w |em [ 2

Gl {3 (s @] |12m [ ]

[:‘:n “:f] [{n n:_ﬂ] 12m
[ﬂ:" ..;. :;‘: :ﬂh — ["u:';‘ n;-]




Tent installation instructions Tent 10[‘“ type P?B

Distribute feet on leveled ground keeping distances as pictured.
For the tents with lenght above 12m base constructions (10x8Bm or 10x12m) should be assembled first.
Mext, gently move one to the other as pictured.

10m x 28m 10m x 32m 10m x 40m
[&7  [e] o] Bl (&7  [e] o] Tl D) : T2l

] LS = A n -] -] A B L=

Lele @] |8m [ o [<le ] |8m

[:‘n n'-n] [q.ﬂfn n'q] 12m [:‘:n n'a]

[:‘:n n;] =
:‘n u'lht:] [ﬂ o u'n]
e o] &> el O 3

o0 D:.P] 12m ::E' “"i] [{n n:’q] 12m
[uu:u U:-'?] ["'ﬂ:“ u:-i] EI’I"I [;:u n::]
[:‘-n n:p-::] &a n:pa] [:rn “:,f’]

oo u:i] Em [ﬂ‘n n;i] [ AL ui] Bm

[:‘:n n'-n] [q.ﬂfn n:.q] 12m [:.:n n'a]

[:‘:n D:F-:a]
[ﬂd:n n';n]
F B [ &% -
[{n ne:_-]
uﬂin n:’uJ 12m
[‘:‘u:'i' I:I:-ﬁ]
[:‘:n D:Fa]

.
0
[¢

@-



Tent installation instructions Tent 10[“ type P78

Distribute feet on leveled ground keeping distances as pictured.
For the tents with lenght above 12m base constructions (10x8Bm or 10x12m) should be assembled first.
Mext, gently move one to the other as pictured.

10m x 44m 10m x 48m 10m x 52m 10m x 56m 10m x 60m
12Zm 12Zm 12m 12m 12Zm
12m 12m 8m 12m 12m
12m

8m 12m 12m 12m

- _ Bm — f—— — = —
12m 12m L J_ 8m 12m

| 12m 12 - _—
_ i 12m

Fix the feet to the ground using the rods. The rods should
Cris5-Cross.

Manner in which tent is fixed to the ground should be
regularly monitored in order to assure the security of the
tent.

Attaching the tent to the ground correctly prolongs the
durability of its components and the tent's construction as a
whole.

Fix the buckle to the corresponding feet,




Tent installation instructions Tent 10[‘“ type P?B

STEP 2

Connect tubes using the screws as shown on the picture. Make sure all the screws fit tightly.

Front and back entrance

M10x80 i";“.e-"'

-

g |°

16A

O po

h Assemble individual frames according to the pictures, fixing them
after they are mounted to the fest.
Make sure every foot is fixed to the ground first.

£




Tent installation instructions Tent 10[‘“ type P?B

STEP 3

Connect outer tubes and roof reinforcements using the screws.
Repeat for the following extensions.

Inner frame




Tent installation instructions Tent 10[‘“ type P?B

STEP 4

Connect all the frames using tubes.
Diagonal side wall reinforcement should be placed in the first and second panel.

| | M10x140

__\____-1' n o ]

M10x50

~—




Tent 10m type P78

Tent installation instructions

STEP 5

On the front and back frame mount entrance gate tubes. On the top tube fic reels (double reel on one side, one single reel in the middle and

second on the other side)

Single reel Double reel

. £ .
5 85/ 5 1C

T

6

(e
&l

M10x80 — aem” 8
=Y e [
E-@.'.'.‘-’_ro e

':'\-.,th:j\
M10x50

Przy konstrukcjiach o dtugosci powyze] 12m nie montujemy bramy wjazdowe] miedzy potgczeniami gtownych namiotow.



Tent installation instructions Tent 10[‘“ type P?ﬂ




Tent installation instructions Tent 10[‘“ type P?B

STEP 6

Distribute the tarpaulin along the wall of the tent. Transfer the tarpaulin through the whaole lenght and width of the tent so itis possible to pull
it to the pipes in the stitching using the lines. Make sure the tarpaulin is evenly distributed on each side. Remember that people on one side

should pull and hold the tarpaulin so it can be easily moved on the steel construction on the other side.

Before the distribution the trapaulin should be stored in the temperature above 10
degrees Celsius. They should be distributed in such temperature (10 degrees Celsius
or higher), otherwise it might crack on the bends. e —




Tent installation instructions Tent 10[‘“ type P?B

STEP 7
I

After the tarpaulin is in place, make sure all the pipes are placed in the stitching. Transfer belts through —_—
these tubes and pull on, hooking it on the buckle on the foot. Lock the buckle afterwards. | jbﬁ.—————"""
f

On the feet, transfer the belts through the tube and pull them, hooking them to the buckle located closer to
the construction tube. Lock the buckle.

Fixed belt.




Tent installation instructions Tent 10[‘“ type P?B

STEP 8

Full the belt going through the tarpaulin on the entrances and hook it to the second buckle on the corner foot. Lock the buckle.




Tent installation instructions Tent 10[‘“ type P?B

Fix tarpaulin extension on velero,




Tent installation instructions Tent 10[“ type P78

STEP 10

i
Entrance assembly N\
17m string —==" \_ 17m sinng
Mount the entrace gate on the front and back frame. W M1 [T =)
Full on the front cover by wrapping string on the rods ey et ‘\“C
and transferring the string through the hales in e A e ‘\5
the tarpaulin. P =
| -‘\'.,._
\ FBm string 7.Bm string (),

}
Eﬂﬂﬂﬂiﬁjq‘: XARARAL
\ '\ . .j

N 1) AL

&’ =M string {\,‘ . . ?
CINANNNIY Ak

0 . S _— —

STEP 11

Gate assembly

Put tubes in the bottom pockets of the gate. Put 22m string
in the gate holes on the left, under single reel (put the reel
over the pipes).
Full the string through the reels along the gate to
I the double reel and again through the holes on the right side.

22, /m string




